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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in_zero mark in that question.

D C B A Questions / =iy R
T - T e . ; > b 1]
246324 Jﬁu‘,lr /1/“)53 (‘Ulﬁ"h‘? ' -%L Wﬂnwwg{/ygﬂﬁ{ﬁu}’tg.{l
Natural Rational S g An irrational number that contains radical
5 urds Mixed surd g .
number number signiscalleda :
2 2
: el S -5x+6=0
{—2,~3} {2,3} {2} {3} ‘ ZJ’
Solution set of x“—5x +6 =10
13
2rr r nr? nr Area of semi circle is 1 et 3 Ko7l id
2
. :‘at‘/cb;c..:afjf/é.‘b«)/:ﬁdf/(w 4
2:1 102 3l 1:3 The centroid of a triangle divides each of
the medians in the ratio :
360° 270° 180° 90° e bnard g Lal | 3
Sum of the angles of a triangle is :
! 3 2 I (g LS P |
No. of methods to find H.C.F. are :
. 1
St $Enis \ B 3pq .9_(”1;&( 15qrsssi 6 pgr
H.C.F of 6pgr and 15qrs is :
3,43 313 3 3 2 R 8
a’+b a =b (a+b) (a-b) (a=b)(a” +ab+b")=
B' 4 A'B! B A In matrices : (A4B)' =2 :éﬁuﬁl? ¢
' @ P p £ P()in P(x)=x° ~2x% 45241 |
If P(x)=x-2x>+5x+] thenP(1)=:
J,:;/(i/:‘ s T A )‘/45;_@ - wlndﬂtﬁu;j}uéw I
con@ggem Perpendicular Collinear Concurrent | The angle bisectors of a triangle are :
. o § 7 t t _ 12
TV S d S 5, -:‘.VU/AMA =-4
Transpose syril:;:ric Symmetric | Square matrix | If A" = — A, then A is called :
') ('f/ b S~ :t‘ﬂuf‘;d-:‘f(ﬂdl:/?/f 13
Circle Quadrant Line Plane Point on the axis do not lie in any :
4
(-8,2) | (8.2} | (-8,-2} | {8,-2)  gerS¥|-3]=5
Solution setof [ x—3 |=15 is:
> 15
Jo=a) x-2)(x+2) 2(x—2) b . §.df.’d/x3—8
(o ddartd) (FFetd) | (x ~2mtd) Factorization of x°—8 is :
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(PART-1s1.#)
12 2. Write short answers to any SIX (6) questions : ¢ 4 ez & L =y (6)‘3:—61/ 2

ek P(l) It P(x)=9x>~2x2+3x+1 1 (D)
() If P(x)=9x>—2x2+3x+1 , then find P(1)

(ii) Solve by using formula : (2x +3y+2)° 4 4 esalur b Gi)
(iii) Define pure surds with example. -é:d&vgm:é_g/d’(‘u,)md‘n (iii)
(iv) Factorize : 2a® —bc—2ab+ac ZGA ()
(v) Factorize : xt-x-2 AT
(vi) Factorize : 8x - % A (Vi)

(vii) Find H.C.F. by factorization : 4ab03,8a3bc,6ab3c : ngb’ (y blsdf 2ia (viD)
(viii) Find L.C.M. by factorization : x2yz,xy’z,xyz* :271:(}" P17 24 (viid)

(ix) Define Least Common Multiple (L.C.M.). Py S F10ba1s5 (ix)
12 3. Write short answers to any SIX (6) questions ‘= ¢ oL Al /:” L =lly (G)ia—éf 3
(i) Define solution of linear equation. Ay S K-_-.ul/u}'; ®
(i) Solve : 3x+3(x+1)=69 2= G
(iii) Solve : |x=3|=4 ZS Gid
(iv) Solve by using factorization method : x2—4x+12=0 2:( S arly 7 (iv)
(v) Solve: x2-11x+24=0 ZSf @)
(vi) Write in the form of linear equations : e SUMeBnk (i)
2 -1fx| (2
5 2 |lyl (4
(vii) Define scalar matrix. Ry N A (vii)
- -1 -4 2 3
Z#* B+CIn C= ¢ B= S i)
: 3 6 . -1 =2
2 3 -1 -4
(viid) If B= , C= then find B+ C.
-1 =2 3 6
; I -1 .
(ix) Find the product : [2 5][2 " ] :é()”‘.,,/‘)’b (ix)

12 4. Write short answers to any SIX (6) questions : o Ry 4 /‘." L ey (6)1::.8)/ 4
(i) In the given figure find the values of c and d : :z-’:p”” el d e uﬁf&’ y (1)
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4. (i) Define parallel lines. w/é =2V E L E O G 4
L ES(T,-5) BUSE e Gid)
(iii) Describe the location of the point (7, —5 ) on the number plane,
' i L (-2,-3),(7,-2 )45 (iv)
(iv) Find the distance between the pair of points (7,-2) ,(-2,-3)

(v) Define concentric circle. -é - S s )
(v) Define medians of a triangle. E A elbs Ll (vi)
(vii) Define quadrilateral. ‘ Ey L, 2 (vii)
(viii) Find area of four walls having : WY o 3K, Ustgs e (viii)

{=5m,b=4m  h=3m
-<- 60 cm JwJé*&&é(P;/Ké/ (ix)

(ix) Find areaof a square having side 60 cm.
~ (PART-II fs.0)
Note : Attempt any THREE questions . ; -éfoy,zéamyuf c:.é;( O

2 2
x(2x—1) N 4x° -1 2;{/’:; (9) 5

) 4x2+4x+1
% E QI xv3 S Py=ar 104 19x+5 /1 ()
(®) If P(x)=4x* +10x% +19x + 5 is divided by x+3 , then find the remainder.

4 5. (@) Simplify :

3 L\ 2 )
4 6 (2 Simplify : a_+aRgN W4 ~ab+b c & () 6
a+b a-b
) 4 4x .
¥ 4 () Solve §(2x+3)210—~3— 2 ()
- -1 =3 2 6] -
4 (ABY =B' 4’ S ertin B = ‘A= AT 7
) 2 0 7 8
2.6 -1 -3 ; t_ pt gt
7. @ If 4= ,B= then verify that (4B)' = B4
7 8 2 0
4 (b) Solve by using quadratic formula - 2 -5x+6=0 =AY Sy AP ()
4 8 (a) Use Cramer’s rule to solve the equations : :éJ’fui:,uc_.@)zi// ) s
x+3y=6,2x+y=4
4 mAC=39cm s mAB =43cm « mBC = 5.4cm SUTE L ABC o (&)
e
(b) Draw a triangle ABC in which mBC = 5.4.¢m , mAB = 43¢em and
mAC=39cm , find the in-centre.
4 -'.ér”‘”dwtfé"ﬁw-‘aﬁd‘ré/ 43 FELLnH (D) 9
9. (a) The area of an equilateral triangle is 4+/3 cm?. Find the length of a side.
4 ~BUL e i 225 L0 C (=6,-7)sB(2,7)<A(6,1) WSl ()

(b) Show that the points A (6, 1), B (2,7)and C(-6,-7)are
vertices of right triangle.
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will resuli in_zero mark in that question.

D . c B A Questions / =iy V-

e tnisd LBaAuds (a+By |

A'B! A + B B! 4’ , ;
In matrices (A+B) =7 :

2 3 1 0 :uJ%}LL/rPJUWu; 2
The number of methods to find L.C.M. are :

3 0 1 95 : LLt‘ﬁ,.?J)K».‘&UL/‘L;J}J} 4
A quadratic equation has a degree :
' - 4
: o f
(0,1) (0,0) (1,0) 0 . L nsisif Solge
The co-ordinates of the origin are :
il At | Aihelie .\ :‘aé/ﬂu;z_»/w ’
T Less thanor | Greater than or Q.
Equal to equal to equal o Greater than | The symbol > stands for :
3 2 { 0 § +bng/;KJJ}/&/;.§ 6
A linear polynomial is of degree :
4 3 2 ] : é—dm'ﬂ«fwf%uf—w 5ol !

The number of medians in a triangle is :

(a—b) a’-b? (a+b) a’+b’ @ ~3ab(a—-b)-b>= : 8

22 :+(£’i:u(8p2q‘12pq 9

2 2
4 4 4 4
Pd o A e H.C.F. of 12pq , 8p’qis :
a®+b° (a-b) (a+b)? a* -~ (a+b)(a* —ab+b%)=: 10
1 -
+3 0 =3 3 cee ¥ |x|=3
, Solution set of | x | =3 is :
e w3 i 12
/2 lxﬁ +b le +b ¢xb -%LﬁJIKf/
2 Area of a rectangle is :
; P 2 _ 13
3x—2x° 2x2 ~3x Bl 2% -0} 0 -zg-deZx =3
Factorization of 2x°=3x is :
. S04 14
c-nG+d) | TRV aper | 6rDeE-2) LAt -16
(x+4) Factorization of x*-16 is :
160° 2700 1800 900 :‘Lt‘ﬁl}’fguz}’Jéw 5

The sum of the angles of a triangle is :
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(PART -1 sl 2> )

12 2. Write short answers to any SIX (6) questions :
2t P(0) In P(y)=3y2+%;-+9 5 G

OB P(y)=3y2+%+9 , then find P(0)

: of ez A L ey (6){4'_45:( 2

(i) Solve : (30+2m)? —(30~2m)? 22 S Gi)
(iii) Define real numbers. -&‘:r.él ¥ Jmu}?’ Gii)
(iv) Factorize : ax+ay-x>—xy ZE8F ()
(v) Factorize : X2 -7x+12 cZESE W)
(vi) Find H.CF. l;y factorization :  6pqr,15qrs,12r%s> :é()‘”fﬁ":bdf.ﬂ/& (vi)
(vii) Define Least Common Multiple (L.C.M.). E A Filiboss (vid)

(viii) Write relation between L.C.M. and H.C.F.

(ix) Factorize :

12 3. Write short answers to any SIX (6) questions :

(i) Define an equation with example.

8x3—y

P S e F e Gii)
=) 7 (ix)
c & eliz B L ity (6)gedS 3
ZsJesgtoy Flents ()

3

(ii) Solve : 2y+%=%y+2 2= G
(iii) Solve : [3x+4]=9 2 Gib

(iv) Write the name of methods to solve
quadratic equation.

(v) Solve:
(vi) Solve by factorization : 5x = x?

Zeb A+B T B=
2

(vii) If A=[1 2] i B:[
0 5 -5

(viii) Define diagonal matrix with example.

1 -2 3
(ix) f A=|-2 0 4| thenfind 4
3 4 2

12 4. Write short answers to any SIX (6) questions :

(i) What is meant by complementary angles?

(ii) Define tangent to a circle.
(iii) What is ASA = ASA postulate?
(iv) Define altitude of a triangle.

(v) What is the incentre of the triangle?

(&10ss)

X% +4x-

_”&artﬁufé’/’ﬁi.fffabbdu» (iv)

77=0 ZSf W)
+6 1’,5«.]’67.;»_’/3& (vi)

2

[

{1 2:’ N G
0 5

—4

3
4 } then find A + B.

-é;d@‘/ﬂé..é{i(fql?d;: (viii)
1 -2 3
-2 0 4|/ (w0
3 4 2
: o ez & L iy (6){;8/ 4
?9.;1/y’¢ug,ud ~5 ()
o lowss (i)
gt/ cr’rASA =ASA (iiD)
-23:»_.9_1/‘7(!6@/'5.:«@ Giv)
?‘cﬂ/y/c,}r//!‘;:.cw W)

AT S Ve




@ Lyp-2-24
0 il o J1 255 2l STt 78 < 72 30 LU L ks ST (i) 4
4. (vi) If30, 72, 78 represent the lengths of the sides of a triangle. Is triangle a
right triangle? - .
KT e 1056050 (vid)

(vii) Diameter of a circle is 10 cm. Its radius will be ?
(viii) Locate (—8, 10 ) in the co-ordinate plane.-é Y1 DA LtV S (-8,10) (vii)

e Ll nd (4,-3) 01 (5,4) (0

(ix) Find distance between (5,4 )and (4,-3)
(PART I 5.2 )

Note : Attempt any THREE questions . -ﬂ:«&lﬁﬁaﬂlr‘di ;Jf O
a?+b%+c? =81 s a+bsec=11 ﬁ’é"#u}gf ab+bc+ca () 5
5. (a) Find the value of ab +bc +ca when the values of a+b+c =11 and
a’+b*+ qz =81
eI kinz8 02l S x2S P0)=3P +he-26 ST ()
(b) If P(x)=3x>+kx—26 is divided by x -2 , find k , if remainder is 0.
Fiustnsbin x*+6x° —3x2 —56x—48 w2 S bbur 2 (D) 6
ek Pl 2211212
6. (a) The product of two polynomials and their L.C.M are x*+6x> —3x% ~56x—48
and x> +2x%—11x—12 respectively. Find their H.C.F.

(b) Solve : x=15-24x " éd’ ()
x#0 .ﬁ _"_+§:i+f_ éd’c;ud/zf(f.u» ) 7
6 x x 4

6

7. (a) Solve using quadratic formula : —Z+ —=i+§ where x #0
% X

. 3 -2 2 47 £
(A+B) = 4'+B" S =tin B=[4 6} 2 A{1 5}/: (&)

204 B =2
) If A=[1 5} and B=[4 6},thenverifythat (A+B) =4'+B'

8. (a) Use Cramer’s rule to solve the :éd’fuiuwmc.:g)z:/(/ M) 8
simultaneous equations :
x—=3y=5
2x-5y=9
mZC =55 » mZB =65 « mBC = 54cm A3 et ABC &lofi ()

e S et

(b) Construct a triangle ABC in which mBC = 5.4cm , m£B = 65° and
mZC = 55°, find the centroid of the triangle.
i 24 QU L L I e 25 25 Sk dizs (D) 9
9. (a) The hypotenuse of a right triangle is 25 cm. If one -é(}’“‘ S (’_‘}4
of the side is of length 24 cm, find the length of the other side.
BT L AU C(5,5) # B (=2,4) A (4-2) s8SZE =t (L)
(b) Show that the points A (4,—-2),B(-2,4)and C(5,5)are

vertices of an isosceles triangle.
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